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OsdH 16,800
—S5.8% 150,000 x7&* 122 12,600
—25.9% 50,0002 x7& 122 4,200
OArg A& 150,0002 x1&* 122 1,800
02 =2 2xH| 1,219,560 1,112,160 107,400
Oo=%, As5)|2, 8¢ 1,219,560
-z 500,0003x1&*12& 6,000
— 22 400,0003x1&+12& 4,800
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2 HRD
X H™SAZH (WP
ool o2yl (Bl &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
—42 400, 00021 %52 * 128 24,000
—5= 250,000& x27H 128 81,000
—62 175,0002 % 1452 * 102 304,500
= 165,000& 155 12& 306,900
—8~9= 155,000 235« 128 437,100
— Xz 250,000& x2H 128 6,000
—A2AL 175,000 x1H* 122 2,100
— XIS A 165,00024 %222 » 102 43,560
~IRIN SR EH|(BY)
300, 00021 %12+ 128 3,600
03 SHARAY| 304,680 287,640 17,040
ouelg =] 50,0008 5425 » 128 255,000
Ootssi S S|
50,0002 18+ 123 600
OSHAP L HSSH| 49,080
—2JAEE 80,0002 x5~ 12& 4,800
—NSEE 100,000 x23H * 123 27,600
—ojl ey 150, 00021 x5 » 122 9,000
—ozsyey 10,0002 %12 » 102 1,200
—SRAHHELE 60,0003 «3H 128 2,160
—delgd 60,0003 6 128 4,320
304 GI2REIS 10,354,929 8,738,058 1,616,871
01 H=SRE= 7,479,225 6,717,198 762,027
ogzeea 3,529,619
Lt 2,853,885
O&l&+=E RY= 1,020,030
OmsH2a 23 75,601
02 20IAAEE = 1,624,464 2,020,860 A39%6,3%
O=pIA2EEZ 1,440,000
OL &I QU
1,440,000,000& *12.81% 184,464
04 SR (RIIAHY) 22X 2EERES S 1,251,240 0 1,251,240
O3AHIRES(Z2A) 400,000
O20ALTEHI(BLE) 400,000
OLQFI QYT (RRX)
400,000,000& %12.81% 51,240
O=I=2(B2=) 400,000
307 212t01 & 135,000 135,000
VESENEE 135,000 135,000
OMZESIZ 100,000
OMoiEx=3 35,000
309 ME3 250 300 A0
R ZRANSFBLANHES 250 300 A0
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A LD
B #ESAA (N2
ol o2y (crel &2l
SA - B GR(31) - HIRAY - BES il &k e HlmS2
| O=2=and 2odozsz Puz 250
C2aelB B 411,327 411,327 0
= 178,908
= 232,419
101 @124H| 411,327 411,327 0
= 178,908
s 232,419
03 SR (I 22 RHE> 411,327 411,327 0
OczE=xR B 411,327
—Jl2=s 2,900,000 7~ 123 243,600
= 178,908
i 64,692
—EESIHI 2,900, 0003 60%+7 & +22] 24,360
—d2= 2,900, 0003 *50%+7 & +22] 20,300
—HHZAH| 130, 000& x7H+12JH 2 10,920
—fE2RE 50,0003 7+ 1204 4,200
- 70,0003 7~ 128 5,880
—IE== 100,000& 7+ 128 8,400
—tHolE st 50,00021+72 122! 4,200
—FYaeLy
180, 0002 +7 24 +42 * 122 60,480
—Al2tel g 28,987
XIOHOrAIMIE 2H| XI&(121H]) 65,000 103,390 A38,390
Il 52,000
s 13,000
101 Q124H| 65,000 103,390 38,390
J| 52,000
s 13,000
02 JIEtRE = 65,000 103,390 A38,390
OARHEEHLIIH 02 65,000
—Jl=a 1,950,000 x2F « 122 46,800
| 46,800
—ARtQIE 4,000
| 4,000
—e &=l 50,0002 2~ 123 1,200
J| 1,200
—ZASAHI 140,000 x2H* 122 3,360
— g2 x| 145,000& x2H 122 3,480
—?E=E 50,0002 ~2&*12& 1,200
—S4HPRLCHARHIEH)
150,000 x2H * 122 3,600
—iEag 1,360
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